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2025
( May/June )

ECONOMICS
( Minor )
Paper : MINECO2
( Elementary Macroeconomics )
Full Marks : 60 (80 marks for 2023 Batch)

Time : 2 hours (3 hours for 2023 Batch)

The figures in the margin indicate full marks
Jor the questions
1. oo fRIREe W $e1 M Sferear / Teg far : 1x6=6

Choose the correct answer / Answer the
following :

(a) IW *[&f® TS GNP (33

According to expenditure method, GNP
is

() Y=C+I+G+X-M
(i) Y=C+I+G
) Y=C+1
(iv) Y=C+G
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(2)

(b) ‘®EE wrM'a qATA #ANS wfbs 03 AP
e z'#

The concept of fliquidity trap’ is
associated with which economist?

() J. M. Keynes
(i) W. J. Baumol
(iii) M. Friedman

(iv) James Tobin

(©) freaa qum ~Rwq oga @b Maawe! o |

Write one limitation of Fisher’s quantity
theory of money.

(@) Faaferea @B Ifa (2 41 SRECR Q=
=
Continuous rise in the price level is
called

(i) T v
trade cycle
(i) J@l JACIIO
deflation
(iii) @RS
inflation
(iv) 87T oIS T

None of the above

( Continued )
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(3)

(e) TAYA ARy wwe A B2
What is marginal efficiency of capital?

(N ofe Togsis q@Te =2

The marginal propensity to consume = ?
Ly e
l —
(1) v

ac

AY

W

) —

(i) =

AY
AC

(i7)

(iv)

2. T R @ ot e/ e vy G farr (2ifSeon
S¢o "R foowe) : 4x3=12

Write short notes on any three of the following
(within 150 words each) :

(@) <fBsre I SHRse SfR@ET “14F)

Distinction between microeconomics
and macroeconomics

(b) TR & 2[R

Circular flow of income
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(c) e FT™
Liquidity trap

(d) TSI TR o

Attributes of consumption function

3. (a) wﬁﬂ@w@mﬁﬁmwawa@w.

12
Describe the scope and significance of
macroeconomics.
{1/ Or
() (i) TR wREwFE B TwmRR e
AT W g®ec = F:4qq 6

[llustrate the concept of an
‘economic model’ using an e€xample
from macroeconomics.

(i) WWW%WWW
yfgedM Wi & @, fora | 6

Explain what is meant by positive
and normative approaches to
economic analysis.

4. (@) TIOW WF TR AW FF IW AF(S ok
IR SRCERT | 10

Explain the production and expenditure
methods of computing national income.
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(5)

A1/ Or

(b) R MR SeE fy 3+3+4=10

(b)

P25/1526

Define the following concepts :

() 2FS 9% q@e GDP
Real and nominal GDP

(@) 5 T e e (3F5%)
GDP deflator

(i) GDP S Fajq
GDP and welfare

T vfew e @2 A sifEvE
RfSs Somemmz man = 2+8=10
What do you mean by aggregate

demand? Explain the different
components of aggregate demand.

11/ Or

RIS feael og1 SfSamapmyz ara +41 | <%
oW R @ 951 Turwer Swas 911 8+2=10

Explain the assumptions of the classical

theory of employment. Mention any two
limitations of the theory.




(6)

6. (o) R g e fw Rt a3
IR [REc I 10 | 2+8=10

Define investment multiplier. Explain
the working mechanism of investment
multiplier.

w1/ Or
(b) mﬂ@ﬁmlmmﬁs?‘{mwm

JgR W N o 2+5+3=10

Define money. What are the functions of
money? Write the differences between
money and near money.

( R0 IR FANAN NI ASFS 20 774 )
( Additional 20 marks for 2023 Batch )

7. (@ &3 IGW RFEGT FF TWR DICFEFR IO
3901 10

Explain Say’s law of markets and its
implications.
%31/ Or
(b) SEICABAPR (¥ T A R Sgdn!
=TCasE 9 |
Critically discuss the Keynesian theory

of income and employment.
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8. (a) TwrPfea wicen fom | [UrHIRe AT oo/ o=
IPREIFZ, I 347 | 2+8=10

Define inflation. Describe the different
types and causes of inflation.

S{1/ Or

(b) TER ~RAG SGCH AL 74T | 10
Explain the quantity theory of money.

* %k
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